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EJERCICIO (51:50)

Calcular (k_{ E | q1 6)

Considerar que:
(1] agT10) = 1g7)

[2] agnl0) =10

Bl oy’ | = @%@ q,

4]  (0l0)=1

13132 = a@p o' 10)
e o) = agig)"agey) ' 10)

(ki Jeo] = O ayagzy)

(k1 k2 | @1 @5) = (0l i ae;)a@n " T 10)

Por [3]:

(ki e |02 02) = €01 o) (e o) + @0*09 gy ) ap 10)
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(k_l,k_z, | ﬁ@)) — (0| a(ﬁz)a(ﬁ)f‘l(k—l’)a(ﬁﬁ |0) + (0] a(E)(Zn)%(S)(E_ﬁ)a@)T [0)

En el primer término, por [3]:

Ol agyaan amamn’ 10) = Ol agean (e@ fag) + @m*0® g _g) 10

(0l agyaa g o100 = (0l agg o Tag) 10) + (0] ag e T @m*6® g 4 10)

Por [2]:

Ol agez a@n ey T 10) = 0+ 2m)*6@) g gy (0l aggyag ' 10)

(0l ageya@n Tage e 100 = @16 g0l (agn tagg) + @m*6@ @_q)) 10)

Por [2] y [4]:

(Ol a(k—z')a(q—l))Ta(kT)a(E)T |0) = (27'[)35(3)(]{—1’_6) (27T)36(3)(k—2>_ﬁ)

En el segundo término, por [3]:

(01 a(;)21)*6D - _yagn T10) = 216D 1y (0l 4z ag T 10)
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(Ol a(k—z»)(Zn)36(3)(E_T1)a@)+ |O) = (27'[)36(3)(]?1_(1—1»)((” a@»)*a(k—z») + (27T)36(3)(k—2'_q—2») |O)
Por [2]y [4]:
(01 o) @m*6%) gy 0@’ 10)
= (2m)%6® oy (<0| e agg) 10) + (01 (2m)*6® ooy |o>)
(0l a(z;) (2m°89) gy ag* 100 = @m*6© gz (0-+ @m*6) g5 ) 010

. 353 .t = 353 353
(Ol a(kz)(Zn) ) (kl_af)a(qz) |0) = (277.') 1) (kl_q—l»)(ZT[) ) (kz—ﬁ)

(ks ke [ 01 02) = @m)*6 g @m0 gy + (20D (g _y 26D gy

. T lazaz) = 6 (853 3) 3) _, (&)
<k1 k2 | q1 qz) = (2m) (6 (’ﬁ-ﬁ)a (k2—q1) +o (’ﬁ-ﬁ)a (kz—ﬁ))




